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You will receive two pages of question sheets and three pages of answer sheets for this exam.
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The same questions are described in both Japanese and English below. When answering, you can choose

either Japanese or English.
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> Answer to each of the following three questions.
* Use one answer sheet for each question.

* Write down the question number on the answer sheet so that it is clear which question you are answering.
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1. A researcher conducted an experiment in order to examine whether presenting a certain stimulus
increased the aggressiveness of participants. In the experiment, the researcher compared two conditions: one
with a stimulus presented and the other without a stimulus. As a dependent variable, the researcher
measured physiological as well as behavioral indicators, which were known to demonstrate aggressiveness.
The results revealed that physiological indicators were different between conditions. Aggressiveness was
higher as measured by physiological indicators in the experimental condition than in the contro! condition.
However, behavioral indicators showed no difference between conditions.

As illustrated above, results of physiological indicators often do not coincide with those of behavioral

indicators. Why does this occur? Explain your thoughts on this issue.
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2. A social survey was conducted, in municipalities where a charge system for household waste was either
implemented or not, to investigate the effect of the charge system on the residents’ satisfaction with the
household waste collection system. For each municipality, two sample data sets were obtained: one was a
random sampling from residential register lists, and the other was an online sampling through an internet
survey. The results showed that there was no effect from the implementation of a charge system. IHowever,
a significant difference was found between the two samples, indicating lower satisfactions in the online
sample than the random sample in each municipality.

Discuss why such results were obtained by providing as many perspectives as possible.
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3. Explain each of the following five academic ferms concisely.

1) w2 A v b=—O URE (Mann-Whitney U test)
2) WFFIRAET /L (linear mixed model)

3) 5,34 7 A (correspondent bias)

4) LR - FEPERS (empathy-altruism hypothesis)

5) BB HTESR (terror management theory)





